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Ming-Ming’s father is a Taiwanese, Mother comes from Vietnam. She identifies
herself as the daughter of the foreign spouse now, not because of what she thinks

but because of what everybody else thinks. However, she feels that if she just said

she was her Vietnamese mother’s daughter, then she was denying her father side
And if she said she was a Taiwanese, she was denying the other side

1. How might you help Ming-Ming understand her internal conflicts?

2. If you were Ming-Ming’s classroom teacher, what might you do to make things
easier in the classroom for her, or others like her?
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